JL_

Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 802 2) 304 3) 407 4 901
- 597 - 86 - 300 -_648 2
3
4,
5 405 6) 804 7 701 8 405 >
- 76 - 759 -518 —_ﬁ 5
7.
8.
9 103 100 804 1) 203 12) 703 .
- 83 - 242 - 34 - 331
— — — 10.
11.
12.
13) 607 14) 304 15) 407 16) 509 13.
-568 - 87 -198 -463
- - 14.
15.
16.
17) 401 18) 605 19) 508 200 707 17
-179 -527 -277 —_142
18.
19.
20.
1-10 [95]90[85[80]75] 70] 65] 6055 [ 50
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
1 205
1) 802 2) 304 3 407 4 901
- 597 - 86 - 300 -_648 5 218
205 218 107 253
3 107
4 253
5 405 6) 804 7 701 8 405 > 529
- 76 -759 -518 - 69 6 45
329 45 183 336
7 183
8 336
9 103 100 804 1) 203 12) 703 9 20
- 83 - 242 - 34 -_331 o 562
20 562 169 372
11, 169
12, 372
13) 607 14) 304 15) 407 16) 509 13. 39
-568 - 87 -198 -_463
39 217 209 46 w217
15, 209
16. 46
17) 401 18) 605 199 508 200 707 17 222
-179 -527 -277 —_142
222 78 231 565 18. /8
19, 231
20. 565
1-10 195(90(85|80| 7570|6560 |55 |50
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C:# Subtracting Across Zero

Name:
Use subtraction to solve the following problems. Answers
183 253 218 45 39
329 217 336 107 20 1.
169 562 205 372 209
2,
1) 802 2 304 3 407 3
- 597 - 86 - 300
- I 4.
5.
6.
4 901 5 405 6) 804
- 648 - 76 - 759 &
8.
9.
7 701 8) 405 9 103 10.
-518 - 69 - 83
_ == _ —_— 11.
12.
13.
10) 804 1) 203 12) 703
- 242 - 34 - 331 14'
15.
13) 607 14) 304 15 407
- 568 - 87 -198
M odified 1-10 | 93[87[80| 73| 67| 60|53 |47 [40]33]
[ Math oa ! 4 11-15[27[20[13[ 7 | 0
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